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Recitation (7.4)

Question 1: If cscx= —% , Where 377[ < X< 2r,then find tan 2x, cosg.
X 2\/5

Answer: tan2x =22 cos— = Y2
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Question2 cos2a = 2 and « terminates in quadrant 11, then find SIna + COS
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ANSWer: sina + cosa =

2
Question3: Find the exact value of: (sin%z+ cos%)
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ANnswer: (sin%+ coss—ﬂJ =

8
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Question 4 Verify the following identity: smzi (1+secx)® =cosZEtan2 X
Solution:
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Another Method:

1+ cosx 1+cosx
-(sec2 X —1) -

RHS =coszXEtan2x = -(secx —1)(secx +1)
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Question5 tan427.5° =
A) V2 +1
B) —1_*/5

2
c) V2-1
D) J3+2
2-+/2
2
Answer: (A) +2+1
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—1](SECX +1)=1+COSX ,(1_COSX j(seCX +1):1—COSX '1+COSX

(secx +1)
2 COS X 2 COS X

+1j(secx +1):sin2XE-(secx +1)(secx +1):sinzx?(secx +1)2 =LHS
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